Simplifie les écritures ci-dessous :

2x5xd=...... 3xex8=_...... bx2xax4xc=_ .
Ixntm=.. (a+b)yx5=... 6xbx(S5xe+7)=...
(etf)x(s+u)=... 4xbx(a+3)xax2c=.... 2b x3a=...
A=3xagxb= . B=3xaga-4xb= ., C=8xaxbx2=_.
D=3x2xa+byx5=... E=2xg+ax7-1=..

F=2+5+3xb=.. G=25-1)xaxb=... H=2x3xagxbxc)=..
2 X AF S X CT e, AX A5 X 8= e
38X (B3 + 2 X €)= i 3Xz=0X D= e
3XT—=dXb= i ax(3Xx9+bXn)= i
OXu+ 1 Xm= e S54x h+gx52= .
AXO6XN+3XP= OXxmxS+hkxjx8= i,
A=2a+3a B=2b-b C=2x+5X-3x D=2a+5x—x+3a
E=x+Xx F = X+X+X+Hy+y+y+y | = xx(xx3) J=-axa—a

K = 3x x 2x L=27+(x-13) M=7-7x+(-2x+7) N=-12a+3b-12a+3
A=3x2a x5b xa D=3 x2a x5b xa-6x2a x3
B=(-2b) x5 xy x 3a E=y x3a x(-3y) x(-4)

C=7-4a+2ax3b-5-7b x2a F=5b-6ax4c+3-7b+2¢ x12a






